MODEL DE SUBIECT 

 PROBA SCRISĂ DE VERIFICARE A CUNOȘTINȚELOR DE LIMBA ENGLEZĂ PENTRU ADMITEREA LA CLASELE A IX-A CU PREDARE ÎN REGIM BILINGV/INTENSIV


I.Choose the correct answer A, B or C that best fits each space:

1. “What time … Jane tonight?” “Oh, not until 8.30 pm.”
A   are you seeing                    B   do you see                               C   you are seeing
2. My train … at 8.40 am, but there was a delay today.
A   is usually arriving               B   doesn’t usually arrive             C   arrives usually
3. Grandma … ghost stories to us when we stayed at her house.
A   was reading                         B   read                                         C   has read
4. It was a dark stormy night and the wind … . 
A   was blowing                        B   blew                                        C   has been blowing
5. “… my football kit yet?”   “No, I didn’t know it was dirty.”
A   Have you ever washed        B   Were you washing                  C   Have you washed
6. Kevin … during the wrestling match last week.
A   has passed out                     B   passed out                                C   has been passing out
7. “Where … your watch?”   “I think I left it at the gym.”
A   did you lose                         B   were you losing                       C   you have lost
8. “Why did you go back to the shop?”   “Because I realized the assistant … me the wrong change.”
A   was giving                           B   has given                                  C   had given
9. The earthquake was big, so I expect … lots of damage.
A   it’s going to be                     B   it will be                                  C   there will be
10. “What do you want to be when you …?”   “A park ranger.”
A   will grow up                         B   grow up                                   C   are growing up
11. Paula has been found guilty and … to prison.
A   could go                               B    is allowed to go                       C   needs to go
12. “… I speak to a police officer, please?”   “Yes, what seems to be the problem?”
A   Would                                  B   Need                                         C   Could
13. The Observer, which … on 4 December 1791, was the world’s first Sunday paper.
A   has first been published       B   will first be published               C   was first published
14. “How’s your new job?”   “It would be easier if I … work such long hours.”
A   don’t have to                        B   didn’t have to                            C   won’t have to
15. Marie was delighted … that the hotel had a huge swimming pool.
A   could see                               B   saw                                           C   to see
16. “Did Maggie go with you to Stonehenge?”   “No, she told me she … .”
A   had seen it the year before    B   had seen it the next year          C   would see it the previous year
17. “Did you help Martin raise the money for the shelter?”   “No, he did it … .”
A   on himself                             B   by himself                                C   to himself
18. My dog … the bakery while I buy bread.
A   always waits patiently outside              B   waits always patiently outside 
C   patiently waits always outside
19. Our history teacher asked … our projects.
A   if had we all handed in          B   if we had all handed in            C   unless we all handed in
20. My optician says I need new … .
A   bottles                                    B   glasses                                      C   glass

(20 items * 2 points = 40 points)

II. Complete the sentences with the correct form of the words in bold.

1. After the long championship, all the … were very tired.                                 PARTICIPATE
2. Can you give us a … of the man who took your bag outside the hospital?     DESCRIBE
3. What was the coldest day in … history?                                                          RECORD
4. The climate in Canada is … to the climate in Russia; both countries have very cold climates.    
                                                                                                                          COMPARE
(2 items * 2 points = 8 points)

III. Read the article about vegetable box schemes, then decide which of the statements 1-6 are true (T) or false (F). Write T or F on the line at the end of the statements.

Vegetable box schemes

We all know that a healthy diet should include lots of fruit and vegetables, which are easy to find at the local shops. What we don’t always realise, however, is how far they have travelled to get to your local greengrocer’s or supermarket, how long they’ve been stored for, and what chemicals were used to grow them and keep them looking fresh. Sometimes our food isn’t as healthy as it looks. To get the healthiest, and most environmentally-friendly food, it needs to be organic (grown without any chemicals), local and fresh. Vegetable box schemes can be the answer.
How does a vegetable box scheme work? Every week, farmers send the food they have ready to the scheme centre. The staff fill the boxes with delicious fruit and vegetables, and then deliver them to customers’ houses. You can choose whether to order just fruit, just vegetables, or both, and sometimes you can order other organic food too. You can also choose from a small, medium or large box. And what if you don’t like some foods? That’s ok, you can tell the company which foods you don’t want. The rest of your box will be a surprise!
So you’ve received your box full of colourful fruit and veg and you might find that some of the products are quite unusual! But what happens if you don’t know what all the things in your box are? Usually, the company’s website will tell you what products are available that week, and it will provide information and even recipes to help you cook delicious dishes using your new ingredients. One company even sends you a recipe each week with your box! It’s a great way to learn about new foods and healthy eating in a fun way.

1.Everyone knows that meat and fruit are part of a healthy diet.  ____
2.People always know how far the vegetables and fruit have travelled to get to their local shops. ____
3.The vegetable box scheme provides customers with fresh food every week.  ____
4.Box scheme customers can’t choose the size of their box. ____
5.The customers might not recognize all the things in their box. ____
6.Information about recipes and the availability of products can be found on the company’s website. ____
(6 items * 2 points = 12 points)

Toate subiectele sunt obligatorii.
Timp de lucru: 1 oră.
Total: 60 de puncte
 Se acordă 10 puncte din oficiu.

MARKING SCHEME

I. 20 items * 2 points = 40 points
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II. 4 items * 2 points = 8 points
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III. 6 items * 2 points = 12 points
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